DIN #rfEREsL

TH-M S§ESEX=ZEEL - AHBIEREEH

L1

———

s2 [T L2 )
S1 I\ ﬂ L6 L6 8
BN S3
— ff _ [T
(s}
0 DLQ 1 T
3 8
. 1oy S@.Si
. o
<
3. | X2)
- @D4
T X1) OZ![E
X2) Z$}[E DKA
oD5 YEHE
D1 TS (bar)
A\ =8
z5 || 1t |Dp3|D4|D5|L1|L2| 3|45 || L7 |s1|s2]|s3| ®m| iTEEr |CF|7
L | 06 [M10x1 | 4 | 45| 14 |19.0|12.0|105| 8 |240| 27 | 25 | 17 | 17 | 14 58 | THOBLMOMD | 250 |250
08 |[M12x1.5 6 | 6.0| 17 |21.5|14.5|14.0| 12 |30.0| 20 | 3.0 | 22 | 19 | 17 | 104 |THOSLMOMD |250 |250
10 |M14x1.5 8 | 6.0 | 19 |22.5(155(14.0| 12 {30.0] 30 | 3.0 | 22 | 19 | 19 | 112 | TH10LMOMD | 250 |250
12 |M16x1.5 10 | 7.5 | 21 |25.0(18.0|16.5| 12 |36.0| 33 | 3.0 | 27 | 24 | 22 | 191 |TH12LMOMD | 250 |250
15 |M18x1.5 11 | 9.0 | 23 |27.5|21.5]185] 12 |39.5| 37 [ 3.0 | 30 | 27 | 27 | 258 | TH15LMOMD | 250 |250
18 |M22x1.5 15 |12.0 | 27 |28.5|21.0|21.5| 14 |450]| 37 | 45 | 32 | 30 | 32 | 337 | TH18LMOMD | 250 |250
22 |M26x1.5 19 |17.0 | 31 |35.0|27.5[24.0| 16 |53.0| 44 | 35| 41 | 36 | 36 | 590 |TH22LMOMD | 160 |160
28 |M33x2 | 24 |21.0| 39 |39.5[32.0[305| 18 |66.0| 49 | 35 | 50 | 46 | 41 | 1072 | TH28LMOMD | 160 |160
35 |Md2x2 | 30 [27.0 | 49 |46.5|36.0|355| 20 |76.0| 58 | 3.5 | 60 | 55 | 50 | 1778 | TH35LMOMD | 160 [160
42 |M48x2 | 36 |34.0 | 55 |51.5]405]405| 22 |87.0| 63 | 35| 70 | 60 | 60 | 2565 | TH42LMOMD | 160 |160
S |06 |M12x1.5 4 | 6.0| 17 |235]165]14.0] 12 |300] 31 | 3.0 | 22 | 19 | 177 | 112 | THO6SMOMD | 315 |315
08 [M14x15 5 | 6.0| 19 |235|165|14.0| 12 |30.0| 31 | 3.0 | 22 | 19 | 19 | 124 |TH08SMOMD |315 [315
10 |M16x1.5 7 | 7.5| 21 |26.0|18.5(16.5| 12 |36.0| 35 | 3.0 | 27 | 24 | 22 | 200 |TH10SMOMD |315 (315
12 |M18x1.5 8 | 9.0 | 23 |27.5|20.0(185| 12 |395| 36 | 3.0 | 27 | 27 | 24 | 261 |TH12SMOMD |315 |315
14 |M20x1.5 10 |10.0 | 25 |30.5|22.5|20.0| 14 |435| 40 [ 3.0 | 32 | 30 | 27 | 334 | TH14SMOMD | 315|315
16 |M22x1.5 12 |12.0 | 27 |30.5|22.0|21.5| 14 |450] 40 | 45 | 32 | 30 | 30 | 350 | TH16SMOMD |315 315
20 [M27x2 | 16 [16.0 | 32 |37.0|26.5|24.0| 16 |53.0| 48 | 3.5 | 41 | 36 | 36 | 628 | TH20SMOMD | 160 160
25 |M33x2 | 20 [21.0 | 39 |43.5|31.5(305| 18 |66.0| 56 | 3.5 | 50 | 46 | 46 | 1106 | TH25SMOMD | 160
30 |M42x2 | 25 [27.0 | 49 |50.5|37.0|355| 20 |76.0| 64 | 3.5 | 60 | 55 | 50 | 1843 | TH30SMOMD | 160 [160
38 |M48x2 | 32 [34.0 | 55 |57.5|41.5|405| 22 |87.0| 72 | 35| 70 | 60 | 60 | 2741 | TH38SMOMD | 160 [160
*FREBREE, BRESRAFATHRNESSED6R.
THSRE
e} REAE |5 TEBE AR
RATE
‘ B,
%Eﬁgﬁ T CF TH16SMOMDCF NBR
PHERIE S THW 71 TH16SMOMD71 VIT
D84 FES2HEA 4100/CH



